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Quiz 3
L‘ P“-S . Let the function:

f(:v,y) . s

V2t —y

a). Complete the following statement: The domain of this function is the set of all points (z,y)
that satisfy: ...

A=Y >0 eor y < ax* . ‘/////

b). Write an equation for the boundary of this domain

y =2 \

¢). Circle the correct answer: Is the domain: \

1). Both open and closed
2). Closed

Open

4). Neither
[ d). Is the domain bounded? Circle onc: Yt:.

2. Complete the following statement: The domain of the function f(z,y,2) = In(z + y + 2) is the sct

of all points (z,y, z) that satisfy...
AY+& 70 @

[ P+S 3. Find an equation for the level surface of the function f(z,y,z) = /T + y +1n(z) that goes through
the point (4, —3,e7%). =

0(4,-3,€7)=\[A+(3) « 0 (€7)
=1+ (-5)= ELE
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